Technical Students	Addition High Educa and N	ier tion Not	Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
04090100 - Architectural T	echnology/	Technici	an								
Non-returner	1	14.3%	2	28.6%	4	57.1%	7	100.0%	0	0.0%	7
Total	1	14.3%	2	28.6%	4	57.1%	7	100.0%	0	0.0%	7
11020100 - Computer Prog	gramming/F	Programn	ner, Gener	al							
Non-returner	7	19.4%	15	41.7%	8	22.2%	30	83.3%	6	16.7%	36
Total	7	19.4%	15	41.7%	8	22.2%	30	83.3%	6	16.7%	36
11080100 - Web Page, Dig	ital/Multime	edia and I	nformatio	n Resourc	es Desigi	1					
Non-returner	1	14.3%	2	28.6%	1	14.3%	4	57.1%	3	42.9%	7
Total	1	14.3%	2	28.6%	1	14.3%	4	57.1%	3	42.9%	7
11100200 - System, Netwo	rking, and	LAN/WAI	N Manager	nent/Mana	ager						
Non-returner	1	4.5%	8	36.4%	6	27.3%	15	68.2%	7	31.8%	22
Total	1	4.5%	8	36.4%	6	27.3%	15	68.2%	7	31.8%	22
11100300 - Computer and	Information	n System	s Security	/Auditing/	Informatio	on Assura	nce				
Graduate	0	0.0%	6	85.7%	0	0.0%	6	85.7%	1	14.3%	7
Non-returner	6	8.7%	31	44.9%	18	26.1%	55	79.7%	14	20.3%	69
Total	6	7.9%	37	48.7%	18	23.7%	61	80.3%	15	19.7%	76
12050300 - Culinary Arts/0	Chef Trainin	ıg									
Non-returner	0	0.0%	4	57.1%	2	28.6%	6	85.7%	1	14.3%	7
Total	0	0.0%	4	57.1%	2	28.6%	6	85.7%	1	14.3%	7
13150100 - Teacher Assist	tant/Aide										
Non-returner	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1
Total	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1
15040100 - Biomedical Ted	chnology/T	echniciar	1								
Non-returner	1	11.1%	5	55.6%	3	33.3%	9	100.0%	0	0.0%	9
Total	1	11.1%	5	55.6%	3	33.3%	9	100.0%	0	0.0%	9
15040300 - Electromechan	nical/Electro	omechani	ical Engine	eering Ted	chnology/	Technicia	n				
Non-returner	1	50.0%	0	0.0%	1	50.0%	2	100.0%	0	0.0%	2
Total	1	50.0%	0	0.0%	1	50.0%	2	100.0%	0	0.0%	2
15040500 - Robotics Tech	nology/Tec	hnician									
Graduate	0	0.0%	3	75.0%	1	25.0%	4	100.0%	0	0.0%	4
Non-returner	1	20.0%	3	60.0%	0	0.0%	4	80.0%	1	20.0%	5
Total	1	11.1%	6	66.7%	1	11.1%	8	88.9%	1	11.1%	9
15050100 - Heating, Ventil	ation , Air C	Condition	ing and Re	efrigeratio	n Techno	logy/Tech	nician				
Graduate	1	4.2%	14	58.3%	5	20.8%	20	83.3%	4	16.7%	24
Non-returner	6	6.0%	66	66.0%	8	8.0%	80	80.0%	20	20.0%	100
Total	7	5.6%	80	64.5%	13	10.5%	100	80.6%	24	19.4%	124

Technical Students	Additional Higher Education and Not Employed	N Addi Hiç	Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found	
15050700 - Environmental	/Environmental	Engineering <sup>1</sup>	Technolog	y/Technici	an					
Graduate	0 0	.0% 7	87.5%	1	12.5%	8	100.0%	0	0.0%	8
Non-returner	1 50	.0% 1	50.0%	0	0.0%	2	100.0%	0	0.0%	2
Total	1 10	.0% 8	80.0%	1	10.0%	10	100.0%	0	0.0%	10
15061200 - Industrial Tech	nology/Technic	ian								
Non-returner		.0% 0	0.0%	1	50.0%	2	100.0%	0	0.0%	2
Total	1 50	.0% 0	0.0%	1	50.0%	2	100.0%	0	0.0%	2
15061300 - Manufacturing	Engineering Te	chnology/Tec	hnician							
Graduate		.0% 5	71.4%	1	14.3%	6	85.7%	1	14.3%	7
Non-returner	3 10	.3% 14	48.3%	8	27.6%	25	86.2%	4	13.8%	29
Total	3 8	.3% 19	52.8%	9	25.0%	31	86.1%	5	13.9%	36
15070100 - Occupational S	Safety and Healt	h Technology	/Technicia	ın						
Non-returner	6 33	.3% 6	33.3%	6	33.3%	18	100.0%	0	0.0%	18
Total	6 33	.3% 6	33.3%	6	33.3%	18	100.0%	0	0.0%	18
15100100 - Construction E	Engineering Tec	hnology/Tech	nician							
Non-returner		.0% 2	25.0%	6	75.0%	8	100.0%	0	0.0%	8
Total	0 0	.0% 2	25.0%	6	75.0%	8	100.0%	0	0.0%	8
15130300 - Architectural D	Prafting and Arc	hitectural CAI	D/CADD							
Non-returner	_	.4% 5	45.5%	2	18.2%	11	100.0%	0	0.0%	11
Total	4 36	.4% 5	45.5%	2	18.2%	11	100.0%	0	0.0%	11
15130600 - Mechanical Dra	afting and Mech	anical Draftin	g CAD/CA	DD						
Non-returner	_	.7% 1	16.7%	4	66.7%	6	100.0%	0	0.0%	6
Total	1 16	.7% 1	16.7%	4	66.7%	6	100.0%	0	0.0%	6
15170300 - Solar Energy T	echnology/Tecl	nnician								
Non-returner		.0% 0	0.0%	3	100.0%	3	100.0%	0	0.0%	3
Total	0 0	.0% 0	0.0%	3	100.0%	3	100.0%	0	0.0%	3
41030300 - Chemical Proc	ess Technology	,								
Non-returner		.0% 2	100.0%	0	0.0%	2	100.0%	0	0.0%	2
Total	0 0	.0% 2	100.0%	0	0.0%	2	100.0%	0	0.0%	2
46030100 - Electrical and I	Power Transmis	sion Installat	ion/Installe	er, General						
Graduate		.0% 12		1	6.7%	13	86.7%	2	13.3%	15
Non-returner	3 7	.7% 21	53.8%	4	10.3%	28	71.8%	11	28.2%	39
Total	3 5	.6% 33	61.1%	5	9.3%	41	75.9%	13	24.1%	54
46030200 - Electrician										
Non-returner	0 0	.0% 3	75.0%	1	25.0%	4	100.0%	0	0.0%	4
Total	0 0	.0% 3	75.0%	1	25.0%	4	100.0%	0	0.0%	4

Technical Students	Additi High Educa and l Emplo	ner ation Not	Empl N Addit Hig Educ	o ional her	Additional Employe Higher and/or Education Addition and Higher Employed Education		/or ional her	Students Not Found		Total Former Students	
46030300 - Lineworker											
Graduate	2	3.4%	38	64.4%	4	6.8%	44	74.6%	15	25.4%	59
Non-returner	1	6.2%	10	62.5%	0	0.0%	11	68.8%	5	31.2%	16
Total	3	4.0%	48	64.0%	4	5.3%	55	73.3%	20	26.7%	75
46050300 - Plumbing Tech	nnology/Plເ	ımber									
Non-returner	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1
Total	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1
47060300 - Autobody/Colli	ision and R	Repair Ted	hnology/	Γechniciaι	1						
Non-returner	3	42.9%	3	42.9%	1	14.3%	7	100.0%	0	0.0%	7
Total	3	42.9%	3	42.9%	1	14.3%	7	100.0%	0	0.0%	7
47060400 - Automobile/Au	itomotive N	/lechanics	s Technolo	ogy/Techn	ician						
Non-returner	6	15.0%	13	32.5%	18	45.0%	37	92.5%	3	7.5%	40
Total	6	15.0%	13	32.5%	18	45.0%	37	92.5%	3	7.5%	40
47060500 - Diesel Mechan	ics Techno	logy/Tec	hnician								
Graduate	1	2.6%	25	65.8%	4	10.5%	30	78.9%	8	21.1%	38
Non-returner	6	14.0%	16	37.2%	14	32.6%	36	83.7%	7	16.3%	43
Total	7	8.6%	41	50.6%	18	22.2%	66	81.5%	15	18.5%	81
47060700 - Airframe Mech								400.00/		0.00/	
Non-returner	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1
Total	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1
48050100 - Machine Tool 1	•			100.00/	•	0.00/	_	100.00/	•	0.00/	_
Graduate Non-returner	0 4	0.0% 10.5%	7 22	100.0%	0 7	0.0%	7	100.0%	0 5	0.0%	7
Total	4	8.9%	29	57.9% 64.4%	7	18.4% 15.6%	33 40	86.8% 88.9%	5	13.2% 11.1%	38 45
Total	-	0.570	25	04.470	,	13.070	40	00.070	J	11.170	40
48050800 - Welding Techn	0,										
Graduate	7	9.1%	51	66.2%	14	18.2%	72	93.5%	5	6.5%	77
Non-returner	3	3.6%	56	67.5%	7	8.4%	66	79.5%	17	20.5%	83
Total	10	6.2%	107	66.9%	21	13.1%	138	86.2%	22	13.8%	160
50040100 - Design and Vis			,		•	47.00/	22	70.001	45	00.40/	
Non-returner Total	10 10	19.6% 19.6%	17 17	33.3% 33.3%	9	17.6% 17.6%	36 36	70.6% 70.6%	15 15	29.4% 29.4%	51 51
i Utdi	10	19.0%	17	JJ.J%	9	17.0%	30	10.0%	15	29.470	51
50040900 - Graphic Design	n										
Non-returner	1	33.3%	2	66.7%	0	0.0%	3	100.0%	0	0.0%	3
Total	1	33.3%	2	66.7%	0	0.0%	3	100.0%	0	0.0%	3

Technical Students	High Educa and I	Higher Education Add and Not Hi		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		ents t nd	Total Former Students
51060200 - Dental Hygien	e/Hygienist										
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1
51150100 - Substance Ab	use/Addicti	on Couns	eling								
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1
52020400 - Office Manage	ment and S	upervisio	n								
Non-returner	7	11.7%	28	46.7%	12	20.0%	47	78.3%	13	21.7%	60
Total	7	11.7%	28	46.7%	12	20.0%	47	78.3%	13	21.7%	60

Summary Page	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
Total Academic Students											
Undeclared	1	4.2%	11	45.8%	3	12.5%	15	62.5%	9	37.5%	24
Total	1	4.2%	11	45.8%	3	12.5%	15	62.5%	9	37.5%	24
Total Technical Students											
Graduate	11	4.5%	168	68.3%	31	12.6%	210	85.4%	36	14.6%	246
Non-returner	85	11.6%	360	49.0%	157	21.4%	602	82.0%	132	18.0%	734
Total	96	9.8%	528	53.9%	188	19.2%	812	82.9%	168	17.1%	980
Total Technical/Tech-Prep	Students										
Graduate	11	4.5%	168	68.3%	31	12.6%	210	85.4%	36	14.6%	246
Non-returner	85	11.6%	360	49.0%	157	21.4%	602	82.0%	132	18.0%	734
Total	96	9.8%	528	53.9%	188	19.2%	812	82.9%	168	17.1%	980
Grand Total											
Graduate	11	4.5%	168	68.3%	31	12.6%	210	85.4%	36	14.6%	246
Non-returner	85	11.6%	360	49.0%	157	21.4%	602	82.0%	132	18.0%	734
Undeclared	1	4.2%	11	45.8%	3	12.5%	15	62.5%	9	37.5%	24
Total	97	9.7%	539	53.7%	191	19.0%	827	82.4%	177	17.6%	1,004